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BGL | N K4 77 k| A2 |GROSS| HDCP | NET | crossif i Ear | BINE K4 7™ k| A2 | GROSS| HDCP | NET |crosshfi e
L'EA G 41 42| 83|13.2 |69.8 7 31|y 2+ 46 50  96/20.4 |75.6 35
2| fjky FE— 44 41 85| 14.4 | 70.6 14 32| FH ¥H 50 58| 108|32.4 | 75.6 55
3B B 42 43] 85| 14.4 | 70.6 15 B A R 50 51| 101]25.2 | 75.8 45
4% HI 48 51 99/27.6 | 71.4 41 345 H #Ha 51 49| 100|24.0 | 76.0 42
5 Al & 38 48 86| 14.4 | 71.6 19 35| tEAR HEHL 51 55| 106]30.0 | 76.0 51
6| 1L 40 44|  84/12.0 | 72.0 13 36| SE{H 43 50/ 93]/ 16.8 | 76.2 33
TKE E 39 44| 83]10.8 | 72.2 8 37|k A Fnf 47 50/  97[20.4 | 76.6 38
8| —WH Stk 42 40 82| 9.6 [72.4 6 38| HE HE 49 54| 103|26.4 |76.6 47
9%l B 41 40 81| 8.4 |72.6 4 391HAE R 46 44| 90/ 13.2 |76.8 28
10(lA @3 44 43 87| 14.4 |72.6 21 40 fex K 2 40 44 84| 7.2 |76.8 12
e E e 43 43]  86/13.2 | 72.8 17 41| ks 1IEH 46 50/ 96]19.2 | 76.8 36
ISy N 38 41 79| 6.0 | 73.0 1 42| Lk HHE 42 39 81| 3.6 |77.4 2
13| B 50 46 96| 22.8 | 73.2 34 43| {2 47 46 93| 15.6 | 77.4 32
14 |kA Fi2E 42 48 90| 16.8 | 73.2 29 44| =78 FEH 45 46 91/13.2 |77.8 30
15| HF e 39 44 83| 9.6 |73.4 9 45\ FnH JEIR 44 40 84| 6.0 |78.0 10
16 |BIFF B 47 41 88| 14.4 |73.6 23 46|50 Hr—HAR 57 51| 108/30.0 |78.0 54
17|k A & 42 46| 88| 14.4 | 73.6 25 47| LRy e F 50 57| 107/28.8 | 78.2 52
18| A 41 47 88| 14.4 |73.6 26 48| Ay F5L 44 44 88| 9.6 |78.4 24
19/ Frdl 41 40 81| 7.2 |73.8 3 49 5 F0 FH Mk 51 47 98/19.2 |78.8 39
20| HH FEfR 42 43 85/ 10.8 |74.2 16 50| LRy 2= 61 54| 115/36.0 |[79.0 57
21 BRI e 44 47) 91|16.8 | 74.2 31 51E M & 49 53| 102]22.8 |79.2 46
22114 1EE 45 58| 103[28.8 | 74.2 48 AN =SSN 50 51| 101]21.6 |79.4 44
2318 FIBA 46 50  96|21.6 | 74.4 37 53| Kl B — 50 49/ 99/19.2 | 79.8 40
24\ P9 H 5L 44 45 89| 14.4 | 74.6 27 54| fEH T 60 50| 110(27.6 |82.4 56
25| At 1E— 50 50| 100]25.2 |74.8 43 55| HH{E I Al 51 53| 104|21.6 | 82.4 49
26| TH =Z2RE 40 41 81| 6.0 |75.0 5 56| f@IFF AN 58 50| 108|25.2 [82.8 53
27| AR PR 45 42 87/12.0 | 75.0 20 5748 1IEA 53 53| 106|22.8 |83.2 50
28| K R 42 45 87/12.0 | 75.0 22 58|EAR =HFHT 58 65| 123/36.0 |87.0 58
29| &R #5L4 39 47 86| 10.8 | 75.2 18 59| PaiH Fni 69 67/ 136/36.0 [100.0 59
30| H R 41 43 84| 8.4 |75.6 11
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